A Adnsy
HMzH: C=2)|g

H & 0l & AHS B Ml A

ol E2AE=3H & At (St &)
SN - BE - SRA(SIH) - NIRAY - BES O] a0 ol & o blnE2
AL SH 52,621,207 48,810,783 3,810,424
= 327,600 327,600 0
z 3,897,468 3,934,500 137,032
< 6,226,491 6,200, 156 26,335
= 100,000 100,000 0
= 42,069,648 38,248,527 3,821,121
C2I8 TH(NEYER/E2) 9,778,017 8,281,017 1,497,000
< 195,000 145,000 50,000
= 45,000 45,000 0
= 9,538,017 8,091,017 1,447,000
SERAESEH L A 184,880 152,880 32,000
CeRNzel 29 184,880 152,880 32,000
201 Ler=23 | 126,880 94,880 32,000
2 s5=34l 97,000 65,000 32,000
OMSHEHX S s52= & MAl
50,000,000 50,000 18,000 32,000
ZE - sHEEZ ZHIAY 8,848,137 7,383,137 1,465,000
(= 70,000 20,000 50,000
= 45,000 45,000 0
= 8,733,137 7,318,137 1,415,000
TEFHIAY 1,806,048 1,506,048 300,000
401 AlEHIYL S THYI 1,806,048 1,506,048 300,000
01 Al&HI 1,800,000 1,500,000 300,000
0849 =& 1B33d EUMXIT S 2Hd Of
A2 THEE SAF 250,000,000 250,000 0 250,000
O=Y 2k (RS2 A2
SIS 50,000,000 50,000 0 50,000
SHEZZ FHIAY 837,489 717,489 170,000
401 AlEBIYL S THYI 837,489 717,489 170,000
01 Al&HI 885,000 715,000 170,000
OFE= 2k 2654 AgX7 OtAZEHE
At 80,000,000 80,000 0 80,000
OHMN B 1015 (4 EXIFR)EHISA
15,000,000 15,000 0 15,000
OYAN sE306SH (ADIXIF)HEISAH
40,000,000 40,000 0 40,000
O=3% s& VIsd 2AIRSRAE) 0Okx
Z MEZHSA 35,000,000 35,000 0 35,000
CRRAZEAE 3,068,600 2,407,600 661,000
401 AlZBIL S THYI 2,857,600 2,407,600 450,000
01 AlZHI 2,845,000 2,395,000 450,000
02gd4.26=2282 1= EXISA
300,000,000 300,000 400,000 100,000
O=2% 4 sHEZZ il & 2=+
500,000,000 500,000 300,000 200,000




M AZWSH
& 2|8 L (USAER/ER)
el 2k - SOHERZZ UMY (SH9 H2)
SN - GA(SH) - NRAY - BES 0 &t N E o HlRE2
OEZHEAIE FHH| 150,000,000 150,000 100,000 50,000
Ozug 2+ 22 200,000,000 200,000 100,000 100,000
OAISY ng JUtNEd 29
150,000,000 150,000 50,000 100,000
OE2FAZCIAY AAEH S
150,000,000 150,000 100,000 50,000
OASY ng HIIAMFH EA(5HEHI)
50,000,000 50,000 50,000
403 X SHSEXH=01 ™ 211,000 211,000
02 SI12SotHe =2 E A S A I 211,000 211,000
OZAAHEE2(ZE~H) XSS
211,000,000 211,000 0 211,000
CERNZIAS(EX) 1,665,000 1,565,000 100,000
< 70,000 20,000 50,000
= 45,000 45,000 0
= 1,550,000 1,500,000 50,000
401 AIEHIZL 2] 1,665,000 1,565,000 100,000
[ 70,000 20,000 50,000
= 45,000 45,000 0
= 1,550,000 1,500,000 50,000
01 Al&HI 1,665,000 1,565,000 100,000
O(He8d)EY el=01sd SEHAAE &
XA 100,000,000 100,000 0 100,000
(= 50,000 0 50,000
= 50,000 0 50,000
Hix S22 XSS A 1,421,000 1,187,000 234,000
403 AXIEHMSAH=01& 1,421,000 1,187,000 234,000
02 SI12S0It et =& P E A I 1,421,000 1,187,000 234,000
Ogttx St2 XISsHAY
1,421,000,000& 1,421,000 1,187,000 234,000
S|P S (sHl Y=Y - &) 21,979,241 21,044,180 935,061
= 3,589,500 3,589,500 0
< 3,915,625 3,915,625 0
= 14,474,116 13,539,055 935,061
=Bl NS 13,511,122 12,571,122 940,000
z 3,589,500 3,589,500 0
< 3,915,625 3,915,625 0
= 6,005,997 5,085,997 940,000
SZEEAY 1,515,765 1,065,765 460,000
401 AlEHIYL S THYI 1,515,765 1,085,765 460,000
01 Al&HI 1,510,000 1,050,000 460,000
O2g MEits s2 HESA
200,000,000 200,000 0 200,000
OJteliits &&= 52 SLISA
50,000,000 50,000 0 50,000




AN A4DSH
M SHMAD | SHAH(SEIS 4 =2 - S&)
o2l selIetEy (SH &)
A - BB C9(B) - MRAY - BES ol &k ol @ o HimE=T
Ol9 N = =2 JHISA
60,000,000 60,000 0 60,000
OF= til=0ts &es =& SEE3A
50,000,000 50,000 0 50,000
O&Z 83XF =2 SEEIA
20,000,000 20,000 0 20,000
OX&E DH0lE =2 EHIAMY
20,000,000& 20,000 0 20,000
OXIE 20l0ts =2 HHISAt
20,000,000& 20,000 0 20,000
OfY LS =2 W2 AXISAt
20,000,000 20,000 0 20,000
O=2= J0ls s2 E==3A
20,000,000& 20,000 0 20,000
Eiil+=2 JHIAL 1,791,827 1,311,827 480,000
401 AEHIL20HY] 1,791,827 1,311,827 480,000
01 A& HI 1,783,000 1,308,000 480,000
OZEF & MHE 22 LHSA
50,000,000 50,000 0 50,000
OZEZ AEilE SHEY =2 EXISAt
20,000,000 20,000 0 20,000
O3 23 22 dXISM
15,000,0002 15,000 0 15,000
O3td duitg sZ4X =2 ZHISA
40,000,000 40,000 20,000 20,000
Oty AXE 2 HHISAH
80,000,000 80,000 0 80,000
OUHel otE HMEE E2 FHISA
40,000,000 40,000 0 40,000
O&Z A0l S22 AXI3At
45,000,000 45,000 0 45,000
O3 &sils 82 4X3A
70,000,000 70,000 0 70,000
O2& XS0t M=Al 212 =2 &x3
A 20,000,000 20,000 0 20,000
O%"= g3d8lls =28 2 ul3A
20,000,000 20,000 0 20,000
OR= 4E0ls =28 2 ul3SA
100,000,000 100,000 0 100,000
UBLS A EINE AL 3,502,880 4,002,880 500,000
I ZMEQITHsENY) (MEH (HEAIY) 0 500,000 500,000
401 AEHIL20HY] 0 500,000 500,000
01 AI&HI 0 500,000 500,000
OFUXN NG (HE NHAMMRASINEXIF)
0 0 500,000 500,000
SIIEAIE RXl - 22 2,545,239 2,400,178 145,061
JIBIAIE 2 RIR 572,301 507,240 65,061




M AZWSH
A SYMMD|E S (sHllSr =Y - SE)
Celr SHIIEAIE KA - 2t EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
201 er23 | 242,301 177,240 65,061
01 At2teltl 121,301 56,240 65,061
OXlote= I =E2BM =2
35,000,000 35,000 0 35,000
O&AIXIT OIEE2OEAIY MEHAHZEHS
g3 30,061,000 30,061 0 30,061
FclAlE FXl2el 280,000 230,000 50,000
401 AlZBIL LY 280,000 230,000 50,000
01 AlEZHI 280,000 230,000 50,000
O3d A8 HUE MHIHISA
50,000,000 50,000 0 50,000
M=Kl =Al2el 732,910 702,910 30,000
401 AlEBIYL S THYI 732,910 702,910 30,000
01 Al&HI 727,150 697,150 30,000
Otel B& M=Al Lot
50,000,000& 50,000 50,000 0
OXNE dEM+A FLAMTH ZH
30,000,000 30,000 0 30,000
st=s0ESA2 2,420,000 2,070,000 350,000
sYIIBAIE R X 2el 2,420,000 2,070,000 350,000
403 AXIEHHSAH=0l 2,420,000 2,070,000 350,000
02 SO 2SOt = 2 2 EF A I 2,420,000 2,070,000 350,000
Oueld 2oX+ S==HuJ|l EXISAt
40,000,000 40,000 0 40,000
OZY A4XF sIIEAIE EHISAH
100,000,000 100,000 0 100,000
OZ=2 =ds =2 A2 ZEIA
40,000,000 40,000 0 40,000
OXNE RIS SHi=2 ZUISA
100,000,000 100,000 0 100,000
OOtAHX 7 ARZ == FHIS AL
40,000,000& 40,000 0 40,000
OYM A2 (LDIXF)s2L BT A
30,000,000 30,000 0 30,000
=EQ S8X Z22(ZELXNMNL/XNALTAI) 7,309,807 6,124,807 1,185,000
= 55,000 55,000 0
s 7,254,807 6,069,807 1,185,000
KIS AL 7,309,807 6,124,807 1,185,000
= 55,000 55,000 0
= 7,254,807 6,069,807 1,185,000
FOIAHOIAY 7,004,807 5,819,807 1,185,000
401 AlEBIYL S CHYI 6,993,367 5,808,367 1,185,000
01 AlZHI 6,982,567 5,797,567 1,185,000
O2g Malots =2 ZHISA
50,000,000 50,000 0 50,000




2A:

¥ 2&9 28 A(RELXNAMNL/XALEAI)
Rl XIS IHEALS (SH9 H2)
SA - BB - SA(S) - MRAY - BES 0l Aro ol E o timE=FT
Ol RE0S HUW= NE ZHISAH
30,000,000 30,000 30,000
OJtell By d =8 NE EHISA
50,000,000& 50,000 50,000
Ol =4 St HZHSA
40,000,000& 40,000 40,000
Ole &= OtXIZ N&E EHISA
40,000,000 40,000 40,000
O3td S0t =82 =&
50,000,000& 50,000 50,000
Ostd Y &X0E =& &4
50,000,000& 50,000 50,000
Ostd 28 o+ == ZHIZA
40,000,000 40,000 40,000
O8= &= 9= MIEHISA
30,000,000 30,000 30,000
Od= &= &8 a= NEEHISA
30,000,000& 30,000 30,000
O8Y &AltS F=XE ZdAMY
50,000,000 50,000 50,000
O8Y dHI0ts s =Xy Z83A
150,000, 0002 150,000 150,000
OF= =8 2= & EX3A
70,000,000& 70,000 70,000
OF= &g ot OtAZHMRI|(ZH722H)
SAt 30,000,000 30,000 30,000
OF= 2=0t2 &2 ZESA
50,000,000& 50,000 50,000
OXE &E0ts 2 ZHISA
20,000,000& 20,000 20,000
OYA Sttits =X ZHSA
40,000,000 40,000 40,000
28 A0S =X XA
60,000,000& 60,000 60,000
O=8 Zaots =2 AR SA
30,000,000& 30,000 30,000
ORg =cd & A= MEZHISA
70,000,000 70,000 70,000
S8 =02 = =2 ZUISA
40,000,000& 40,000 40,000
O3+ ZR0tS &2 OtAZEZHSA
50,000,000& 50,000 50,000
O3+ &E0E ME AIH 223A
80,000,000 80,000 80,000
O3F ZE0tS o2 =8 & ZHISA
50,000,000& 50,000 50,000
O2% 8 ¢E= =2 FHISA
20,000,000& 20,000 20,000




M AZWSH
¥ 2&9 28 A(RELXNAMNL/XALEAI)
Rl XIS IHEALS (SH9 H2)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
OR= X &M 2 E43A
20,000,000 20,000 0 20,000
OF= &J| et SHEHBA o0& 0 40,000 240,000
O Al S4H0IE &2 AIH EHISAH
0 0 30,000 A30,000
OEY SAaXT A EHH| At
40,000,000 40,000 25,000 15,000
WSHYAL(NSHER/USLS - SFRSIIE) 12,605,735 12,427,832 177,903
= 327,600 327,600 0
= 307,968 345,000 A37,032
[ 2,109,866 2,133,531 123,665
i 9,860,301 9,621,701 238,600
HdUNE 28 7,665,093 7,699,190 34,097
= 327,600 327,600 0
z 307,968 345,000 n37,032
< 119,866 143,531 123,665
= 6,909,659 6,883,059 26,600
gAed, Ot 28X 1,995,621 2,056,318 260,697
z 142,968 180,000 N37,032
< 27,156 50,821 A23,665
= 1,825,497 1,825,497 0
307 2I2t01 1,995,621 2,056,318 260,697
= 142,968 180,000 A37,032
[ 27,156 50,821 123,665
= 1,825,497 1,825,497 0
Q0 2=FAHEXS 1,995,621 2,056,318 260,697
O8Ild =AMEXS 609,303,000 609,303 670,000 260,697
s 142,968 180,000 A37,032
< 26,335 50,000 N23,665
s 440,000 440,000 0
0 & st 25AE X2 3,697,853 3,691,253 6,600
308 XXM SOIA 34,253 27,653 6,600
18 SIS0t & A AS A 34,253 27,653 6,600
OHAFBAIAB(BIS) R
33,610,000 33,610 27,010 6,600
Sgus+o 2SN 619,600 599,600 20,000
= 122,000 122,000 0
< 1,000 1,000 0
= 496,600 476,600 20,000
301 LEEEZ 20,000 0 20,000
14 JIE2 43 20,000 0 20,000
OBIRXMEAl 2d N2
20,000,000 20,000 0 20,000
WSHHAILEZS =E 4,940,642 4,728,642 212,000




FA ALWS 0
I NSHYA(USHEF/USLS - =FSIIEY
Hel: NSHHAEE =5 (Gt H2)
A -3 - SRA(3H) - MRAE - BES Ofl &F2H I3 A Hwusz
& 1,990,000 1,990,000 0
i 2,950,642 2,738,642 212,000
WSHEAIE 4R 638,507 578,507 60,000
401 AlZHIL 2 0HY] 638,507 578,507 60,000
01 Al 635,375 575,375 60,000
Ot=E= St X
30,000,000 =4CH 120,000 60,000 60,000
k2l 45,260 33,260 12,000
201 LetE Y| 40,730 28,730 12,000
01 At 2teltl 27,400 15,400 12,000
ORHSANHAZEA 23] 27,400 15,400 12,000
—0IS4 & Axt
2,000,000 122 24,000 12,000 12,000
—0I34 & A
300,000 *42] 1,200 1,200 0
—0IS4 33 =5 1,200,0002 1,200 1,200 0
—AIRA FR2AL| 2EF 1,000,000 1,000 1,000 0
wWEN ALR2H XA 71,700 51,700 20,000
401 AlZHIL 2 0HY] 20,000 0 20,000
01 Al 20,000 0 20,000
OHsSEXNN B2&5 &XIAY
20,000,000 20,000 0 20,000
HASS RO =4 100,000 0 100,000
401 AlZHIL 2 CHY] 100,000 0 100,000
01 AlZHI 100,000 0 100,000
OFE HASSX X =4
100,000,0002 100,000 0 100,000
SYFAE =4 (I MAH) 90,175 70,175 20,000
401 A& HIZL R 90,175 70,175 20,000
01 Al 90,000 70,000 20,000
= SHIHl SAIFIE ZgAD
20,000,000 <341 60,000 40,000 20,000
WS (AL (RELXAMNL/XAKLECAI) 17,371 1,91 15,460
RSP 17,371 1,911 15,460
=CH X3 BE=3 17,371 1,911 15,460
802 gtet=0IEt 17,371 1,911 15,460
01 =nEx3es 1,508 101 1,407
O=HEx3 &= 1,508,000 1,508 101 1,407
02 Al - CHIEXESEHES 15,863 1,810 14,053
OkHE2x3 &= 15,863,0002 15,863 1,810 14,053




